VERB HAVE GOT

AFFIRMATIVE NEGATIVE

| HAVE GOT | HAVEN'T GOT
YOU HAVE GOT  YOU HAVEN'T GOT
HE HAS GOT HE HASN'T GOT
SHE HAS GOT  SHE HASN'T GOT
T HAS GOT [T HASN'T GOT
WE HAVE GOT  WE HAVEN'T 60T

YOU HAVE GOT  YOU HAVEN'T GOT

THEY HAVE GOT  THEY HAVEN'T GOT
ADJECTIVE ORDER

LONG CURLY BROWN
SHORT WAVY BLACK
MEDIUM STRAIGHT BLOND




. 1.Put the words in order

HAS SHORT SHE GOT HAIR BLACK
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‘ CURLY HAS BROWN HE GOT HAIR
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GLASSES HAS GOT SHE
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PIGTAILS HAVE GOT THEY
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LONG HE RED HASN'T HAIR GOT
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HAVEN'T THEY GOT ANY MOUSTACHE
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2. Choose the correct answer.

He hasn’t got a beard.

He has got a beard.

They have got big black eyes.
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. " They haven'’t got black eyes.

She hasn’t got long straight blond hair.
=

She has got long straight blond hair.




They have got medium length
brown hair

They haven’t got medium

e, length brown hair.

3. Choose the correct answer.

spiky blond hair.

Bt &

glasses.




long curly red hair.




